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X £ | 0 F | BEE | X £ | 861 £ | BEH £ | 8 F | BEN
q & B R 60 62 -2 1 1 69 67 2
B K 91 111 -20 1 1 99 134 -35
i} & 56 52 4 2 2 63 60 3
B & & 42 41 1 45 45
i & 129 130 -1 4 1 3 140 149 -9
B v} 10 3 7 11 3 8
w o E 253 276 -23 3 3 272 306 -34
B oW 7 101 118 -117 107 141 -34
w W @ 178 185 -7 1 2 -1 198 198
AFER 4 8 -4 1 -1 5 8 -3
# ¥ 39 42 -3 2 -2 43 45 -2
X M 31 27 4 2 1 1 35 31 4
AN 16 19 -3 1 1 17 21 -4
i} ¥ 14 15 -1 1 1 17 17
F M B 39 49 -10 1 1 40 54 -14
= i) 1 8 -7 1 9 -8
= 5 13 1 2 2 1 1 15 14 1
BEF A @ 388 399 -11 8 3 5 427 458 -31
N 575 629 -54 4 8 -4 625 698 -73
BF A @ 101 118 -117 5 4 1 110 132 -22
B AN & & 1,077 1,157 -80 19 16 3 1,177 1,302 -125
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X £ | 0 F | BEE | X £ | 86 £ | BEH £ | 8 F | BEN
B 37 23 14 1 1 25 16 9
B K 46 58 -12 1 1 26 42 -16
i} & 26 15 11 17 12 5
B & @ 23 19 4 11 7 4
i & 59 61 -2 4 4 34 34
B p;il 3 3 3 3
w o E 78 92 -14 2 2 33 48 -15
B oW 7 40 46 -6 24 23 1
w W @ 69 61 8 1 -1 48 32 16
AFER 1 3 -2 1 3 -2
# ¥ 17 18 -1 2 -2 11 7 4
X M 12 13 -1 1 1 9 7 2
AN 8 7 1 1 1 1 6 -5
i} ¥ 7 1 -4 1 -1 3 10 -1
F M B 27 29 -2 1 1 18 17 1
= 5] 1 7 -6 1 8 -7
= = 3 2 1 2 1 1
BEF A @\ 194 179 15 6 1 5 116 114 2
N 205 220 -15 2 5 -3 117 113 4
BF A @ 55 67 -12 3 3 32 48 -16
B AN & &t 457 468 -11 1 9 2 267 276 -9
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